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ii) Net sales consideration T 4,20,000
iii) .Cost of new asset purchased T 3,60,000
iv) Assets used for charitable purposes to the extent of 60%.

c) Categorise the dfferent types of Assessments in taxation.

5. a) Define 'Goods' under GST Act.

b) Narrate the different types'9f GST in lndia.

c) Examine the benefits of GST to business persons.

t

SECTION _ A

Answer any four questions in this Section. Each question carries 1 mark for Part (a),

3 marks for Part (b) and 5 marks for Part (c). :

1. a) What is 'Aggregate Turnover' in the context of GST ?

b) Who are the persons not.liable for GST.registration ?

c) On what grounds are the registration of GST canceled ?

2. a) Define lComposite $uPPlY'. 
,

b) .PAN is made connputsory o,n:certain grounds". Discuss.

c) Narrate the histortrl of GST in lndia.

3. a) What is an 'lnterim Dividend' ?

b) Discuss the general principles of imposing penalties.

c) Who are the persons entitled to olaim re,funds in certain special cases ?

4. a) Who is a 'Prjncipa 6,ffimr' in the Assessment of the Company ?

b) From the following information, compute the amount of Capital Gains
utilized for charitable purposes.

i) Cost of asset transferred { 3,00,000

ffi*
B\ s.r11 /*"\w

P.T.O.
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6. a) State the meaning of 'Defective Returns'.

b) Distinguish between Tax Deducted at Source and Tax Collected
at Source

c) Evaluate the powers of GST Council. (4x9=36)

SECT]ON _ B

Answer the two questions in this Section. Each question carries 12 marks.

T. a) List out the taxes subsumed and not subsumed in GST. Briefly encounter
the significant features of Dual GST.

OR

b) Distinguish between :

i) Tax Planning and Tax Management
ii) Tax Planning and Tax Evasion
iii) Tax PlanninE and Tax Avoidance
iv) Tax Evasion'a'r#',, ',ax Avoidance

What is'e-filing of roturns' ? Enumerate the steps to file lT Returns online.
Also, specif$. the benefits o{ 'e-filing of returns'. 

.
OR

C Ltd. showed a r,xBt p' it rt 3,35,000 during 2021-22. Scrutiny of
accounts revalued,€howin$ following items.

i) Donation paid ,b an ,&FProved Public Charitable Trust t'20,000 by
cheque

ii) Provision for lT T 1,0q000
iii) Family planning:expenditure' t 25,000
iv) Capital expendtturCI on family, planning T 1,00,000
v) Bad ddbt{i.allowedrt during the previous year T 10,000

vi) tnterest on bank deposits { 30,000
vii) LTCG { 1,00,000

viii) Dividend from lndian company t 20,000 (gross)

There was
. a) unabsorbed depreciation of t 35,000 and
b) unabsorbed capital loss of T 40,000 brought fonruard from the earlier AY.

Compute the Total income of the company for the AY 2022-23.

(2x12=24)

b)
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c) From the following, comp$[$ tner;
Year 2O22-23: ,",,

i) Business income from sdle of

K23P 0228

Max. Marks :60

$g 
O, X Ltd. for the Assessment

< 20,000

{ 55,000

T 8,000

T 25,000

t 10,000

lV Semester M.Gom. Deg ./Supple./lmp.)
Examinatio

(2019 Admission
Elective-A: FINANCE

COM 4EA4: Corporate Tax Management and GST

. SECTION - A
!,j

Answer any four questions in this;jSp-'0tiq.t]=Eaetg stion carries 1 mark for Part (a),
3 marks for Part (b) and S marks-fl6' 1c), -_-

1. a) Define 'Minimum Altdinatit6*Tax'. +SffiSS*"t:rJ41]*

b) Distinguish between a Domeffipo.4}ff.trhy4nd a Foreign company.

Year 2022-23: ff;! ,it5iii j
i) Business income from sdle of socuritiHfl .SS,, T 8,50,000
ii) other business ifi'eUYf$S"ffiX'tilttttv!!1it'litj:ijt;::r;'"t#w ' '"; { 1o,o0,ooo

iv) Securities trahsaction tai ffii.q- #iffi ,!''.--!.._,'1' ', { 1,50,000
(not deducted from business inCome)

2. a) Define a'Co-oBerative'Sci-iidtir'.

b) State what categories of income of a Co-operative society are deductible in
computing its total income.

c) ARG College Co-operative Society,
during the year ended 3110312022:

i) lncome from college canteen

Davangere had the following incomes

ii) lncome from merchandise business

iii) Income from credit facilities given to members

iv) lnterest on govt. securitie^s

v) lnterest on debentures

P.T.O.
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t 12,000

T 5,000

K23P 0228

vi) Taxable income from House property

vii) Dividend (gross) on shares held in

another co-oPerative societY

Determine the gross total income and the total income of Society for AY 2022-23.

3. a) How do you define a'Trust' ?

b) Write a note on :

i) Trustee --":ili1;:ir' i,,,,,:r >,..

ii) Trust money .*,-lits...;/. 1.!..,-:r"

iii) Beneficiary' 
""''',,,,'/rii';'"','

lll, Dellellulaly, ..1"""",

c) ln the previous Year 201 trust derived an income of

T 4lacs from propertY h including t 25,000 by waY

of tax deducted . During the year, the

trust spent { 2,20,000 the ta<able income.

What is'Corporate D

Discuss the con for allotment of PAN.

Outline the advan

5. Define TDS.

State the penalty'for fa{lure, ,,. *\

Distinguish between r"* 
"r#'iili:and 

t"* avoidance.

Analyse the importance of Tax planning and Management. (4x9=36)

a)

b)

c)

a)

b)

c)

a)

b)

c)

4.

6.

SECTION _ B

Answer the two questions in this Section. Each question carries 12 marks.

7. a) Elaborate ori the powers and duties of Assessing Officers.

OR

b) Who are the parties in the GST Gouncil ? Enumerate the features and

functions of GST in lndla.



8.a)StatethedifferencesintheCGsTActandtheSGsTActwithregardto
registration.'nrro, n*rate the pil..ort. for Registration of GST'

OR

b) Three companies raised capital as under:

ComPanies

il (r) ru (t)
I ({)

i;.^;1,.0",9,000
40,000

CaPital 2.00,00O:r.:
1,60,000

Loans
\ \..- ./ :'i :i

il' '' '."." ii'1...'

*i 
",4;gProoe

2,00,000
Total 4,00*9.1"9-QE

(2x12=24)



lill]lill lllll lllllll lll lllll lllll lllll llll llll :

Reg. No. : ..............i......'...........

Name : ..............

K22P 3347

tv semester M.Com. Degree (c.B.s.s. - Reg./supple./lmp.)
Examination, APril 2022

(201 8 Admission Onwards)
Elective - A. Finance

COM4EO4 : COHPORATE TAX MANAGEMENT AND GST

Time : 3 Hours Max. Marks : 60

SECTION _ A.

Answer any four questions in this Section;Effi question carries 1 mark for

Part (a), 3 marks for Part (b) and'5-me'ffi fof ,P".art (c),

1. a) What is GST ? . 
l

b) What would be the 'due date of issuance of invoice' with reference to time

of supply of goods ? . .il,,,

c) Under what circumstance+,regis@n udHer GST not required ?

2. a) What is tax Planning ?

b) what are the tax planning based on residential status ?

c) Out of Rs. 30,00,000 share capital of Rs. 100r share, the company reduces

n.. 3,00,000 share capital at Bs, i0/'-,share. The profits of the company

were Rs. 1 ,50,000 attei payment'of diVidend distr.ibution tax. Mr. Ram holds

S00 shares of the company. Cornpute the amount of deemed dividend u/s

2(22)(d).

3. a) What do you mean by urban consumer'S co-operative society ?

b) Explain the deduction under section 80P.

c) From the following information compute the total income of a charitable

trust and its tax liability for the A.Y. 2019-20.
Rs.

lncome from trust - 10,00,000

Donation-corpus 5,00,000

Other voluntary donations 4,00,000

Anonymous donation 5,b0,000

Spent for charitable purpose in lndia ' 
8,00,000

i)

ii)

iii)

iv)

v)
P.T.O.
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4. a) What do you mean by belated return ?

b) Who are the members of GST Council ?

c) From the information determine the tax payable u/s 1 15-O by a domestb

company on dividend distributed by it :

1) It received dividend from its subsidiary company (which paid dividend

distribution tax u/s 115-o) Rs. 6,00,000 on 10/1 1na1B.

2) lt distributed dividend Rs. 56,00,000 on 1511212018 to its shareholders.

Out of Rs. 56,00,000 the company paid dividend Rs. 10,00,000 to a person

on behatf of the.New Pension System Trust'

5. a) What is PAN ?

b) The Total lncome of Mr. X, reoidgnt of lndia, i: lt' 5,22000. Calculate

Advance lncome Tax payabrl durihe-the financial year 2019'20 and find

out installments if TOS, is Rs 180.

c) Discuss any five items of pen*lties impOsed by lncome Tax Department.

SECTION _ B

Answer ,^y i*o questions in this Sectiorl' Each question carries 12 marks'

6. a) Exptain in detail about difJerent iypes of assessment.

ration eompute the tax payable by Z and Co.

keeping in view the,pr.,ovisions of MAT u/s 115J8 for the Assessment Year

2019-20:

Statement of Profit and Loss (for the year ended 3l"tMarch 2019)

Particulars Note No. Figures as at
the end of current
reporting period

Rs. Rs.

30,00,000I Revenue from oPerations

ll Other income :

LTCG (exempt under Section 10(38)

lnterest on Gov't secu;ities

lll Total Revenue (l + ll)

2,00,000
25,000 2,25,000

32,25,000
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lV Expenses:

-.r' K22P ?347

1,50,000

Cost of materials consumed

Purchase of stock in trade

Changes in inventories of finished goods,

Work-in-prog ress and stock-in-trade

Employee benefit expenses

Depreciation and amortisation expenses

Expenses related to sales .

S ecu riti es t ran sactio n tH[''pffi'r*tati ng to LTC G
..,',*t

Profit before tax (lll-lV) 
"

Tax expenses :

lncome tax paid

,:,,.:::iiii ,,:,::,::. 
",t jr,, , .n,iii:.

I I tlj':;":':-

,;.':;r::.Y..l:::.!isliiiiiiiri:

= 
'qffii.,l

23,20,000

5,000

24,75,OOO

7,50,000

1,00,000

6,50,000

V

VI

Vll Profit for the

ProfiVloss as per last Balance,.Sheet (if an$,]

!l

Less : Proposed dividend

Balance of profit carried to Balance Sheet

Additional information :

a) The company revalued its assets from Rs. 3,00,000 to Rs. 6,00,000 and

provided depreciation on Rs. 6,00,000@25%. The depreciation allowable

as per lncome Tax Act Rs. 80,000.

B/F loss as per books of account Rs. 2,00,000.

B/F depreciation as per books of account Rs. 50,000.

BIF unabsorbed depreciation Rs. 1,00,000.

i:

6,50-000

0i:50,000

2,50,000

4,00,000

b)

c)

d)
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7. a) Describe different modes of recovery of tax.

OR

b) A, B and C are members of AOP sharing profits and tosses in the proportion
ol2:2:1 respectively. Profit and Loss A/c for the year is following :

K22P 3347

Salaries and wages

Marketing charges

Advertising

General charges
!'. ..t

Legal charges ' '.0:. "

Travelling expenses

lnterest on bank loan

Discount

Reserue for bad debts

Bad debts

Rs.

Gross profit 50,700

Profit on sale 800

P-:rofit on sale of investment 400

Rs.

16,000

175

.-329

Payment to retiring 

'M
I nte rest on cap ita' t:;:17i'{'4ffaii:ll$]l

ffis
.r,{ffi

r:i:L1xl1j111tr1tffiwii;;#iiiiiit:iii-i
::r:::::::,::.t.:'r:::;litiil'tl1li;i*1i i i ilr

A- 300

.r"oc - 80@:_"*
r

Net profit

51,900

Compute the total income of AOP and allocate it amongst the
considering the following :

a) Salaries and wages include of Rs. 500 per month to B.

b) General charges include a sum of Rs. 3,000 paid to save
reputation and

c) Motor car was used wholly for business purpose.
the written down value of the car was Rs. 25,000
Rs. 25,800.

At the
while it

51,900

members

business

time of sale
was sold for

I
.l
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COM4E04 : Corporate Tax Management and GST

Time : 3 Hours Max. Marks : 60

SECTION - A

Answer anyfour questions in this Section. Each question canies 1 mark for part (a),
3 marks for Part (b) and 5 marks for Part (c).

1. a)

b)

c)

What is AOP under lncome Tax Act ?

Distinguish between AOP and BOl.

A, B and C are members of an AOP. They share profit or loss equally. During
the previous year the income of Aop is 2,20,000 and the income of & B
and c is Rs. 40,000, Rs. 5,10,000 and Rs. 5,20,o00 respectively. compute
tax liability of AoP and A, B and c for Assessment year zozo-21.

What is co-operative society ?

Explain about Section 80P of lncome Tax Act.

From the following information, compute taxable income of co-operative
society.

1) Taxable income from house property 10,000.

2) Dividend on inter co-operative investment (gross) 10,000.

3) lnterest on securities (Govt.) 15,000.

4) Profit from cottage industries 40,000.

5) lncome from banking business 20,000

6) lncome from hotel business 70,000.

7) lncome from sale of agricultural produce grown by its members 15,000.

P.T.O.

2. a)

b)

c)



K21 P 0268 iltffifi]11rHffiflruffiilffi|il

3. a) What is voluntary return ?

b) Write a note on belated return and revised return.

c) What are the steps on e-filing of income tax return ?

4. a) What is PAN ?

b) What are the difference between TDS and Advance tax ?

c) What are the different types of assessment ?

5. a) What is tax Planning ?

b) Distinguish between tax evasion and tax avoidance'

c) A company's existing capital is one crore all in equity shares, proposes to

raise additional,investment of 50lakh. The entire capitalcan be raised either

by issue of equity or by issue of 10% Debentures. Their expected rate of
return is20/o and rate of tax is 30%. Help the management to take decision

related with their capital structure.

6. a) What is meant by lndirect tax ?

b) Distinguish between SGST and CGST.

c) Define business as provided in CGST ACT.

7. a) Define the term "suPPlt''.

b) How is the value of supply determined in second hand goods ?

c) Which are the activities not treated as supply of goods and servlces ?

8. a) What is input tax credit ?

b) State valuation norms under GST.

c) Briefly explain the role of GST Council. (4x9=36)

SECTION - B

Answer any two questions in this Section. Each question carries 12 marks.

9. a) An lndian company submit the following informdtion

1) Profit of business after deduction of donation to approved charitable
institution 4,00,000.

2) Donation to charitable institution by cheque 50,000.

-2-
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3) lnterest on Govt. securities 20,000.
4) Dividend from a domestic company (gross) 60,000.
5) Long term capital gain 1,00,000.

6) Book profit u/s 115.J8 10,00,000.

During the financial year company deposited 50,000 in lndustrial Development
Bank ol lndia. Compute taxable income.

OR

b) which are the modes of recovery of tax ? Explain each of them.
OR

c) Explain tax planning, tax evasion and tax avoidance with suitable examples.

10. a) What do you mean by capital structure ? What are the different options
available for the company to make a capital structure ? Write about the tax
implication on capital structure decision.

OR

b) What are the arguments in support and against the GST system of taxation
in lndia ?

OR

c) Gritically evaluate the new Indirect tax regime in India.
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SECTION _ A

lv semester M-com. DegreeJgB?F-n:gfuppr/rmp.) Examination, Aprir zo2o
Elective A : Finance

(201T Adm ission Onwards)
coM4E04 : coRpoRATE TAx MANAGEMENT AND GST

Time : 3 Hours

Answeranyfour gu-estions in this sectgn..Egch question canies I markfor part (a),3 marks for part (b),and 5 markslor panlci.

1. a) What are services as per GST ?
b) what wifl be the time of suppry under Reverse Gharge Mechanism ?c) Differentiate between SGST, CGST and |GST.

2.a) What is tax management ?
b) What are the limitations of tax planning ?
c) Trapti Limited wants to raisecapitar of Rs. 20,00,000 for a project whereearnings before tax shail be 40%'of tne capiiJ6hpigyeo. rnelof,pany canraise-debt fund @ 180/o p.a. suggeit, whi;h ;id;i6n"*6J-ariernatives

should it opt for :

1) Rs. 20,00,000 to be raised by Equity Capital.
2) Rs. 16,00,000 by Equity and Rs. 4,00,000 by loans.
3) Rs.4,00,000 by Equity capitar and Bs. 16,00,000 by roans.
Assume the company shall distribute the entire amount of profit as dividendand tax rate is 27.827o and divideno tai i" it'.itzv".

3. a) Define the word ,charitable purpose,.
b) What are the different types of trust ?
c) The income of a co-operative.society for the previous year is as underlncome from business _ 5,000

lncome from proceqslng the agriculture produce to its members (withoutthe aid of power) _ 6,00b 
e --'--'Y rvrvvvv

tncome from fishing an-d allied activities _ 4,000
lncome from intereit of securities (Grois) _ l.sOolncome from house propefi tcom'putd'_ iffi-ocompute the totar incdme'oi tne socidtv Ih"J't", payabre by it for theAssessment year ZO,lg-20. 

p.r.o.

Max. Marks:60
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b) Explain any three functions of GST Council.
c) From the information determin_e.the 

.tax payabre u/s 115-o by a domesticcompany on dividend distributed by it :

1) lt received dividend from.its subsidiary company (which paid dividenddistribution tax u/s 115-o) Rs. g,oo,oOb in rolr 1i2o1g.
2) lt distributed dividend Rs. 28,00,000 0n 15/12/201g to its shareholders.
out of Rs. 2g,00,000 the company paid dividend Rs. 5,00,@0 to a personon behalf of the New pension'sydtem iil;il- 

v'vv,vr'\' Lv

5. a) How a company became resident in lndia ?
b) Estimated rotal lncome of a domestic company for the financial year ,

2019-20 is Rs' 1,02,00,000. Determird in" lffiurit ot ad,arce tax payabre.
c) Explain the general principles of imposing penalty. (4xg=g6)

SECTION _ B
Answer any two questions in this Section. Each question canies 12 marks.
6' a) Exprain any 12 payments on which rax is Deducted at source.

OR
b) The statement of profit and Los.s of X Ltd., a dornesilic company, for theyear ended g1't March 2019 is given below.' 

-
Statement of Profit and Loss (for the year ended 31n i/larch, 20lg)Particulars Note No. Figures as the end of

crrrent accounting
periodl. Flevenue from operations gO,50,000ll. Other lncome LTCG

nt. rorat ier"ru" tr iiU dllS;ffi3lV. Expenses:
Cost of materials consumed
Purchases of stock in trade
Changes in inventories
lmployee benefit expenses
Other expenses :

Expenses related to sale of other goods
_ Provision for unascertained liaOitit6s
Total Expenses
Profit before tax (ilt - tV)
r ax expenses :

lncome tax paid

V.
vt.

10,00,000

8,20,000
40,000

t9,60,000
17,60,000

75,000
16,95,000

Vll. Profit for the period (V-Vt)
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Notes to Accounts

profit or Loss as per rr,"r.":;tjjus 
statement

Current year profit

Add: Transfer from General Reserve

K20P au7

16,95,000

20,000

Less: Appropriations , ,7,os,ooo

Proposed dividend 
8,OS,00O

Transfer to General Reserve 60,000 g,65,000Balance of profit carried to Balance Sheetother relevant information are as follows , t,40,000
a) An outstanding liabirity rerated to vAT tor 2A16-17 paid during 2o1g_rgRs' 50'000 which *"" noi"targed to aoove statement ot protii"and r-oss.b) Brought toyl! ross as per books of account is Rs. 60,000 whire broughtforward depreciation 

"r i"i oooL. ot accouni il n.. go,0oo.c) Brought fonuard unabsorbed depreciation is Rs. 4,60,000.d) Brought fonruard ross under the-head capitar gains Rs. 3,50,000.compute the t€x riabirifiT 0f x Ltd. for the nr."rJr"nt year 2019-20.7'a) Exprain in det6ir about generar powers of tncome Tax Authorities.
OR

b) During the previous year2olg-1g there was a profit of Rs. 60,000 to anAoP after charging sltary, ;;;u" and interest on capitars to its members.raxabre income oian eob r* the same periodrl;H'li:l: sJ,tons term capitat g"in *", Ri.. r,+0,ooo 
".0 rzlf# ?:.r:.i[?;?r:?:are three memberi A, B and c rnaring ilil and rosses in s : c,: 2 ratioand their income rrom ousi;; and [rofession tg,. the Assessment year201 9-20 is Bs' 1,35,000; n.. i^eo,ooo linJ ns."r" ro,ooo respectivery.rn addition to it Aop paid Rs. 6rgg0,r:. 1o,oo0, Rs- 14,000 as interest oncapitar to A, B 

-and 
c r"ro".t(ry 

:?iary b"jj',o A was Rs. 16,000 andffi,,t5,1iFirffi:ffiffi iT tnispenTJo. iino totar incom-e-ano tax
(2x12=24)
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,V Semester lll.Com. Deqree (Regular) Examination, April 2019
(2017 Admiss'on Onwards)

Elective - A. Finance
coM 4E04 : cOBPOFATE TAX MANAGEI\,lENT AND GST

SECT ON - A

Answerany4qleslons in th s Seclion. Each question carries 1 marktor Part (a),

3 nrarks 1or Part (b) and 5 marks lor Parr (c)

1. a) Define an AOP

b) What are the rate prescrbed lor Assessment oi AOP or BO ?

c) The tola lncome ol a co'operalive socielv complled under lhe norma

provisons ol lncome Tax Act is l3,oO,0OO/ However lhe adjusted Tolal

income ol the co-operative society (cornpuled as per Section 115Jc(2))

amounted toi30,0o,o00r. ca culate FinalTax liabilityol co'ope€tive society

ror lhe Assessment Year 201 8 19.

Wh", do /o- T-an ov Donp<ri ol oo'/ ?

What s Book P rof I ? What s the relevance ol Book Prolii in the Assessment
2. a)

b)

c) Surya Company Lid iurnish the fo Lowing delails You are rcqu red to

calculaie tax liability.
Book proljt under Section 115 JB

Dividend from Domeslic comPanY

D vldend lrcm Foreign cornPanY

Long lerm caplta gain

Short terrn cap lalgain
. lnleresl on Go\4, SecLlrll€s

n.ome frorn Bus ness

9,00,000
15,000
10,000

35,000
13,000
25,000

5,00,000



K19P 0133 i I fi It Ir

3 a) Whal do vou mean by deleclve.ellrn of ncom€?

b) What are the sleps lor eJ no oi lncome Tax Feturn ?

c) Whal s PAN , Give len lransacuons where qloting PAN is compulsory

4 a) Whal do you mean by advance tax ?

b) Descr be diflerent modes ol recovery oi tar.

c) N4r Suresh receives lhe lo owngduringthelnancialyeff20lS-r9.
Sarary 8,67500. His annLra contrlbution ro RPF 162000, he had paid
I 12,000 lowards Life insurance prem !rn, i I 000 lowards Unit linked
lfsurance Plan r97r. Cac! ate h s TDS lrorn salary

5. a) Whal s GST ?

b) Whal arc the taxes.eplaced by GST ?

c) What are lhe b€nefits of GST t

6 a) What is laxabe event lnder GST ?

b) What are the reg siraton procedure under GST,

c) Briely expla n lhe strlcture of GST co!.c
SECT ON B

Answer the two queslions in lh s Sect on. Each quesilon carries 12 marks

7 a) Expain the genera!principles oi Lmpos ng penaly

OF

b) A Ltd. proposed lo increase its prodLrcl on lor which t wil requ re
a 1,00,00,000. The Company proposes the lo owlng 3 aternatves lorlhe
structure olllre addiliona capita.

I ll lll
share captal 1,00.00.000 40,00,000 20,00 000

1O'./" debentlres - 40,00,000 30,00,000

Loan from Bank {lnt. 12%) 20,00 000 50 00,000

expecled retlrn on capiia empoyed ln bLrsiness s 25% (beiore lax)
G€neraly companies engaged in slmilar business are pay ng 20% d v dend

on lts sha.e capia. Assur.e tax rate s 30% surcharge 5% and educalon

You have to advlce ihe cornpany as to wlr ch alternalive it sho! d choose

for the capilaL sirucl!re so as to pav maximurn dlvldend to shareholdeG
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L a) 'Tax plannlng is not possible withoul lax management'. Discuss.

OB

b) Sanjay Ltd. a domesiic company provides you ihe lollowing infomation
compule lax liability ior the A,.Y 2018-19.

Purchases 18,75,000 Sales 75,25,000

Wages 8,45,000 Coslng stock 1,10,000

Freight 12,500

G.P. c/d 49 02,500

76,35,000 76,35,000

Saary 8,s0,000 G.P.b/d 49,02,500

Generalexp. 4,35,000 Dvjdends lrom

Sales exp. 2,15,000 ndian Co. 17,500

D rectorc Remu. 8,22,000

ncome tax 1,80,000

Penalty (exc se) 10,000

Proposed dividend 3,20,000

Provision for loss ot

subsdlarycompany 2,00,000

Net prolil 18,88,000

49,2O,O0O 49.20.000

1) Purchases iicludeone bill oi I 60,000 agalnst wh ch paymeniwas made in

2) General exPenses include t 15,oOO as lnlerest on loan taken from Bank

lnl€resl has not been Paid so lar'

As Per lT Acl As Per Books ol A/c

3) Brouqhtforward losses 2,80,000 1,40,000

unabsobed depreciaiion 1'70,000 50,000

calculate tax liabiLily. (2'12=24)
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Fourlh S€mesler M.Com. Degree (RegJSuppulmp.) Examination, March 2018
(2014 Admn. Onwards)

ELECTIVE. A - FINANCE
COlVl4Eo4 | Corporate Tax Planning and Management

Time 3 HoLrs llax [larks:60

K18P 0383

SECT ON -A

Answer any lour queslions r mark lo Pad (a),3 marks 10 Parl lb) and 5 marks

I a) Who can be partnerol afnm,

b) Under Seclon 40 b whal ilems are d sa owed as deduction wh e complling

rtrms n-ome tor Busras. and oroles-o

c) From lhe iollowing rnfomation compule tax Liabiliiy ol lhe im:
1) Prolriirom an industial undertaking Rs. 40,000.

2) Prolt from business oi Poullry breading Rs 20,000.

3) Shon rerm capiialgain Rs. 20,000.

a . ong la n.apilalqc qr ,10,000

5) lniercsl from Bank Rs 6,000.

6) Loss trom house propedy Rs 10,000 on account ol nleresl on oan

iaken lo conslrucl lhe holse properiy

7) Donalion to approved Chaitabe lnsiilution bycheque Fs 15,000

2 a) What is reiund otlax ?

b) Llr. A pald Rs 7,000 as advance tax lor the Assessmonl year 2016 17

A O on the regular assessmenl determ ne the amounl oi tax Fs. 14 500

and issLred relund voucher on 20b November 2016. Complte amount ot

lnteresl, I any, payable bylhe Gov€rntnentto Mr A.

c) D€scibe lhe difierenl modes of recovery oi lax
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3. a) Whai do yoLr mean by belaled return ?

b) What are lhe sleps tore li ng ol lncome iax relLrrn ?

c) Describe the organisaiion oi income lax deparlmeni.

4. a) Whal is iax p anning ?

b) Distnguish belween iax evasion and lax avoidance

c) Whai is the need for iax pLanning ? Whal are ils limiiaiion ?

5 a) Expain the concept of"Deemed Dividend".

b) Discuss ihe tax efiect ol owned capita and borowed capital.

.) Th,ee.onpa re" 
'd 

sFd rle rp l"l as -4de.
Company I Company ll Company lll

caplal 2,00,000 1,60,000 40,000

Loans 40,000 1,60,000

Totallnvestment 2,00,000 2,00,000 2,00,000

Rale ol nle.esl on loan 10%

Rale ol relurn 25% 10%, 80%

Rale oiid 30%

Elpain whose capita siructure islhe besi and why ?

6 a) Del ne Amalgamarion under lncorne Tax Acr.

b) Write a nole on la! incenlives io amalgamaled company

c) Dur ng the year 201 7-1 8 a lrlsl derived an income of Rs 4,00,000 lrom ihe
properryheld unde. rhe 1tusl ior clrarilab e purpose. The trusr aclualy spenl
12,60,000 durlng ihe previousyear. Determlne la(able income ofthelrusl.

(ax9=36)

SECTLON B

Answor the tollowing Each question carries 12 rnarks.

7. a) Following is the proiil and lossofL[/ Lld.,an lndian Company ior the year
ended 31'!t March 2018

Purchases 12,00,000 Sales 50,00,000

Factory Exp 12,00,000 Dividend trom foreign
Depreciallon 2,00,000 company 5,00,000
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GeneralExp 1,00,000

ncome tax 2,00,000

Nei Prclt 26,00,000

55,00,000 s5,00,000

i) Deprecaiion a owable as per ncome Tax Acl 41,50,000

ii) The company has variols depreciabe assels Du ngtheyear,a
bock of pant and nrachinery was reva ued 10 a hgheriiglre, such
reva uaiion resuh in excess deprecialion oi 120,000

iii) Genera expenses nclude actla bad debti 1,000

A) Toialincome under normaLprovsion or ncomeTaxAcl

B) Book prcll under LIAT

C) F nalTax L ability.

OR

b) A, B and C are members or an associalion ol perso.s. They share proiit
and losses eqla y During lhe previous year lfcome ol ihe AOP s
{ 2,20,000 and the income ol A, B and C is < 40,000, 15,10,000 and
I5,20,000 respeclively. Compule the tax lability ofAOP and A, B and C lor
ihe Assessmentye 2017 18

8 a) A R G Coljege Co-operaiive Soclety has lhe to owinq ncomes.duing lhe
yearended 31 3 2017

1) lncome frorn college Canteen { 20 000

2) lncome lrorn merchandise business t 55,000

3) lncome trom cred t lacililygiven ro members 19,000

4) nteresl on qovernmenl sec!rities { 25,000

5) nteresl on debentlres (gross) I 10,000.

6) Taxable income from House Property I 12 000.

7) Dividend (gross) on shares hed ln anoiher Co.operalive Sociely { 5,000

Deiermine the lolal ncome oi lhe sociely lor the Assessmenl year 201 7 1 8

OF
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b) Jaya Ltd. wants io acquire a furnace cosllng { 10,00,000 Following two
options are available

Option I : To take il on lease from ABC Lld lor 5 years ai a yearly renl oi
i 580 per 11,000 ol lhe assetvalue payable ai year end.

Option ll:To take il on lease irom XYz Lld. ior5 y€a.s al a yearly rentof

1 ) I 620 per I 1 ,000 ol assel value lor 3 year and

2) 1460 per 11,000 otassetvalue tor nexi2 years.

Other ir ormation :

1) The lax rale app icable is 30o/.

2) Afier rax cosr of Capjtal 13%.

3) P V. faclor for Re. 1 @ 1 3%.

At the ye end Year : (i), (ii), (iiD, (iv), (v)

0 885 0 7A3 0 693 0 613 0.543

Adv ce the company reqarding betteroplon. (2x12-24)
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Fourth Semesler tvt.Com. Degree (Beg./Supple.Imp.)
Examination, March 2017
(2014 Admn.Onwards)
Elective A - Finance

COt 4EO4: CORPORATE TAX PLANNING AND IIIANAGEI\IIENT

SECTION -A

Answeranyfour que$ons 1 mad to Pan (a)3 marksto Pan (b)and s marks

r. a, Merio- 11" rd{ aplkalor: ol lpds" or bLydec"iol

b) Explain the incldence oi ta-x w th respect lo capilal gains

c) wharlaxconsideraiionslo be kepl in mind when dec di.g the dlvidend policv ?

2. a) When doeslhecLaimiorrel!nd arlse?

b) State the provisions regarding nlereslondelayed relLrnds.

c) Exp ain bieiiy diiie€nl modes ol recovery oi lax

3 a) What is meanl by 'selt assessrnent lax ?

b) whal a.e lhe vatiots lnconie Tax ALthoil es cosliluled underlhe Ac1 ?

cr !t',re drorpor'suhfrto A.+ss-er I

4. a) Der ne oomesticcompany'.

b) Distinguish belween assessmenlol Regsleredfimand un regislered lirm

c) Sml.Ph o, a res denl attained lhe age oi 68 thisvear She hadlhelollowing
r o-es_or116p F. oLs/edrPld 103' 1 2017

Shoirlefin capilalgainson saeoJsharesRs 26o00 Long term capilal gain

on sa e oi Land Rs. l,76,000. Long ierm cap ta oss on sa e oi shares

Bs.10.000. Ca culate lhe iaxliabi ty.
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5. a)

6a)
b)

Wlrpn does lhe abi ty ior

Xapanne.inalimshowedhisshareol ncome nhisretLrn.Heasome.toned
thatone ol the pannerswas his wile. After comPleting lhe assessm€ni ihe ITO
re. rsed thal he sho! d have c ubbed the share ollhe assessee and his wile.

Disllnquish betwe€n lax avo daice and concea menl oi ncome.

Howiscostol acqu s I on caicu ated with respectto Bonussharesforcalcu ating

c) Dur n9 the year 2016 I 7 a Chariiab e Trust derived income ol Fs 4 00,000 lrom
lhe propenyheld underlrLsliorcharlablepurposes TheTrLstaclualyspenl
Fs. 2,60,000duinglheprevioLsyear DelermnelheldableincomeoilheTrust.

(4x9=35)

SECTLON B

Answerlheiollowing. Each question ca(es 12 marks

Can lhe lTOrc open lhe ass€ssmenl ?

c) Dlsclss rhe adnriss b l1y oi the lolowing ilems wilh respeci 10 a regslered

1) Saarvpadlo Padner
2) lnleresloncaPiial
3) Rent paid to one parl.e.torlhe portion ollhe buiding owned by him which

is used bylhe I rm.

4) Expenses on repa roj the above panoilhe building

5l Dofalioi 10 approved bodes.

7. a) A B CandDarepadnersinalnmsharngprollsand osses in the ralio ol 30%
25% 20%and 25% respect ve y Ailer s x monlh D ellthe iirm and Ewas laken
if The new prolil shar ng rar o s aE A 251;, B 25"k .C-25L and E-251"

Prol ls ol the I rm for lhe prev ous year ended 31i lvlarch 2016 anounled 10

Fs 12o,ooo. which fcluded gross nleresl 01 Fs 7,500 on secLriles and
nie.esiol Bs 3,000 chargedlo Aor h s debl balarce. The proj l oJ FIs.1,20,000
has been afi ved at after debling the lolowing:
lnleresl on capilal1o B FIs.4,000

Sa ary10 c & D Bs. 1,200 and 8s.6,000 respecnvely

Fenl Bs 5.000 paid 10 D

Commission Bs.2 400 paidlo E

Donal on lo charily FIs 6,000
Compule lhe lolal income ol the llrm ard show ls a ocation amofg pattners
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ol U4 re s /Co ope?live Soc eryru 1sl6. ll-6lolowi19 luone lo'rt e/ear 20-6 17

RS. RS,

20,000 lnleresl on secu les(gross) 5,000

lncomei.om house propedy 6 000
13000 Dividend ftom anolherCo-Op.sociely 4 ooo

ncomeirom credil
lac il es io menbers 8.000

Delerrilne the gross 1o1al income ol the soc ely.

8 a) The nel proiil ol a company ior lhe previous year 2016-17 as per company
accourlts works oul lo be Rs. 6,00 000 The lollowing items are deducted to
arrive ar rhe ner projt

cu entassessnenl year.

1) Acc.ued labilyof graluily

(No graluity i!nd c€ated)

2) Foreignlour expense ol Dircctors

3) Foreign lourexpense oi Direcior's wile

4) PeiaLiyiorv olal ng impod rules

5) Expenses incuned ontar proceedings

6) Expenses lorliling tax rcturn

8) TransiertoGeneraiFesetue

9) Saleslaxand duly

10) Prcvlsion ior lncome Tax

Yor a€ reqrlredlo lstlhe inadm ssible lemslromlhe above.

50,m0

25,000

15@0

20,000

15 000

5,000

70 000

2,00,000

40,000

60 000

OF

b) An unregisiered J rJri ol AB&C (Sharng ratio 6 :1 2) . Shows a loss oi
Fs.36 000 allerpayig saary oj Rs.3o,ooo to B and Fs.26,0001o C Olher
incornes oi AB &C are Rs. 18,000, Fs.2,000 and Rs.3,000 respectively

Delerm ne lhe taxable ncome andlax liabiliy oJ lhe J rrn and parlners lorlhe
i.2r12=24)
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Kl6P 0220

Fourlh Semester M.Com. Oegree (Regular/Supplementary/tmprovemenl)
Examination, l\larch 2016

(2014 Admn.)
Eiective-A; Finance

COM 4EO4 j CORPORATE TAX PLANNING AND I\,IANAGEIVIENT

SECTION A

Answeranytour (1 rnarkio Parta,3 markslo Pa.l b and 5 marksio Parl c.

I a) What do you ! nderstand by pavasVou earn scheme ?

b) Slate the procedurc for claiming retLrnd

c) Explain lhe dfferent modes oi recovery

2 a) Whal is bookprolit?

b) How will you treat lirm s losses ?

c) X, Yand Z are pannersol a iim wlth equalshares. The P & L lLlc lorthe year

ended 3l-3-2014 shares a net prolll oft2,80,000 afterdebiting t 7,000 tor

inleresi paid to X al 20% I 60,000 lor salary paid to Y and I 44,000 lor reni of
lhe bus ness prern ses pald to Z Cornpulelhe book proiit oftheiim The I m
fullil s lhe condllion ol Se. la4

3. a) What is tax plan ning ?

b) D. i' g- .b"w-- dolordr-^Fr.d I.F/d5ror

c) Expla n the oblective oflax p anning
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b) What arc the caseswhere PAN s compulsory?

c) Frorn the lollowing inlonnalion compule the lnlerest pavable byan indjvid!al

tl/s 234 A.

Assessmentyear20l4 15

Dale oil ing the relurn 20 I 2015

Return due on 3o'7 2014

Taxdeducled underso!rce I 5,000

Tax pald in advance { 15 000

Tax paid on se I assessment l2 000

Tax payab e on lhe bas s ol assessed ncome I 25, I 80

5. a) What yoLr mean by telurn ?

b) What s exparle assessmenl ?

c) Explainthe consequences oi exparle assessrncnl

6 a) Whalislax managemenl?

b) whal are lhe matteG covered underlax rnanagemeni ?

c) Dislinqu sh beiween tax plann ng and lax ma.agemenl.

SECT ON-B

7. Follow ng are the incorne ol adomest c companyiorlheyear endlng

on 3lsrLlarch 2014.

i) Business prol t (including expod undedaking proilt 11,72,000) 4,20 000

i)DvidendlromanlndianPublcSectorcompanv(gross) 10,000

I ) Dlvidend incorne irom an ndlan Cornpany whose 80%
income s agr cullu ral income (qross) 9,000
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5,000

I6,000

12,000

8,000

8,800

iv)

v)

V)

Vi'

VD

lncomeirorn mutua fund loross)

Royalty rece ved lrom a foreigi concern ior provrd ng

Fee lrom lndian Company lor lech nica advlse

D v dend l.onr a foreign company

company has donaled to Naiona RuralDev€lopmeni
fund during the previousyear

Compule lhe tolalincome oilhecompany to ihe assessrnenl year20l4 15

Find oul gross tax liablliry I lhe book profil oi the cornpany is I 7,00,000
U/s 115J8

OF

The lolal ncome alan assoclation ol persons in wh ch A. B and C are members,
slrarng proilis and loss nlhe ralo of 1 2:2was assessed al l 16 000 ln

rornpuiing the toia ncorne ol t 1 6 000 lhe A O. has rnade the necessary
adjLrstmenl in respeci ol ihe iollow ng surns

a) Sa aies oi I 6,000 and { 4,000 to A and B respecllvely

b) nlereston capilaloll7,000,110,000 and a25,000to A, Band C.

c) Commiss on o111,000,13,500 and a4,500 to A, B and C.

d) BonusoJ { 1 000,11,500and {2,50010A. Band C r€speclvely

C has boffowed capilal for inveshenl ntheAOPand had paid ntereslol

115,000 separalelyto lhe lendel [,4ember do not have any oiher incorne

Allocale the income amongesllhe member

8 A, B anclC arc partners ln al rm sharinq prol I and osses equaly The lkrn n the
previousyearhas incurr€d a nelloss oll75 000 after ded lclion ol iollow ng:

i) lntereslon capilal @ 20%:A- { 8,00018 a7,000;C {9,000

l) SaarytoA B and C 120,000 each

i ) Bonus lo A and B i 1 0,000 each.

iv) Commiss on to C{5 000
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v) Donationto P [4.droughtre eflLjndi10,000
vi) Deprecialion on assetsl50 000 (allowed I 60,000)

vii) lncomelaxr5,000
v ii) Sales io< r 50 000
lx) GeneraLreserve { 1s 000
/) - F P ol|ld o -o('A., aunr 1lud,s rhe lolo{ 19 rnr orp

a) Capia gain

Long lern 110,000

Snon term rlo,ooo
b) Expand earn ngsi 50,000

Cornpuie lhe taxab e income otlhe iirm Firm lu lill ihe condition U/s 184.

OB

Trlvandrum Co-operative Sociery has lhe lollow ng lncome earned during lhe
yeat 2414 - 15.

1) D vidend frorn lndian companies I10,000
2) AgicLrltura income {25,000

3) lncornefronsaeolag cu l! ral implements to mernber I 15.000

4) Prol I ol genera share owned by the society 11,15,000

5) lnteresl liom a nealoy Co-operal ve Soc eiy t20,000
6) Benl irom a bu ilding et oul to a Co-ope ralive Bank a60,000

7) Dividendtromlhe nearby Co-operauve Sociely 16,000

8) nlereston securiiies a6,000

9) The society sold in February 2015 ior a price ol 18,00,000 a piece ol land
purchased six yeal back (The indexed cosl ol acquisilion ol lhe plot was
' .00 000)

During lhe year the sociely donaled { 40,000 towards Pime [4inisters

Asserlain thelolallncorne and iax liabi iry ior the year (1212=24)
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Reg. No. :

Name :

lV Semester M.A./M.Sc.lM.Com. Degree (Reg./Sup./lmp.)
Examination, March 2015

COMMERCE
Paper - 15 : Corporate Accounting

Time : 3 Hours Max. Marks : 80

ECTION _ A

Answer any five. Each carries eight marks.

1. What is purchase consideration ? Explain the different methods of presenting
and ascertaining purchase consideration.

2. Explain the different methods ol winding up of companies.

3. Describe the advantages and disadvantages of double account system.

4. Explain the different types of financial analysis.

5. S Ltd., sells its business to P Ltd., the latter to take over the assets at book
values and to pay trade liabilities in addition it is to pay S Ltd., Rs. 1,000 towards
redemption of its debentures at a premium ol 10/" and liquidation expenses
Rs. 400. The payment of purchase price is to be 2000 shares of Bs. 10 each at
an agreed price of Rs. 12per share and the balance in cash.

Balance Sheet of S Ltd.

Share cap. 30,000 Sundry Assets 51,000

P and L alc 2,000 Workmen compensation

Workmen compensation fund 1,000 investment 1,000

Bills payable 4,500 Debtors 17,OOO

Creditors 20,000 Less Prov. 1,500 15,500

Debentures 10,000

67,500 67,5U1

Give realisation account in the books of S Ltd. p.r.o.



M 27000 IlllllfiHt$ ll]lilillilrflttil

6. B Ltd., went into voluntary liquidation. The details regarding liquidation are as
follows :

Share capital :

1) 2,000 8% preferences shares of Rs. 100 each (fully paid).

2) Class-A 2000 equity shares of Rs. 100 each (Rs. 75 paid up).

3) Class-B 1600 equity shares of Rs. 100 each (Rs. 60 paid up).

4) Class-C 1400 equity shares of Rs. 100 each (Rs. 50 paid up).

Assets including machinery realized Rs. 4,20,000. Liquidation expenses amount
to Rs. 15,OOO.

B Ltd., has borrowed a loan of Fls. 50,000 from 'P' brothers against the mortgage

of machinery (which realised Rs. 80,500). ln the books of the company salaries
of four clerks for four months at a rate of Rs. 300 per month and salaries of four
persons for three months at a rate of Rs. 150 per month, are outstanding. ln
addition to this, the company's books showthe creditors worth Rs. 87,400. Prepare

liquidator's statement of receipts and payments.

7. The following information of a company is given :

Current Ratio 2.5: 1

a

Acid Tax Ratio 1.5 : 1

Current liabilities Fls. 50,000

Find out :

a) Current Assets

b) Liquid Assets

c) lnventory.

8. From the following information compute the amount of claim to be debited in the
revenue account. Claim paid during the year Rs. 16,00,000, Claims outstanding
atthe begining of theyear Rs.80,000, Reinsurancesclaims Rs. 90,000, expenses

on claims Rs. 15,000, claim intimated and accepted but not paid atthe end of the
' year Rs. 6,00,000, claim intimated but not accepted at the end of the year
Rs.45,000. (8x5=40)
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SECTION _ B

Answer any two. Each carries 20 marks.

9. XLtd.,absortedthebusinessof YLtd.,on31 -12-2006,thebalancesheetof the
latter company on the date being as under :

A

2,00,000 Goodwill 25,000

15,000 Land and Building 1,00,000

15,000 Plantand Machinery 50,000

10,000 Debtors 25,000

Stock 17,500

Cash at Bank 15,000

P and L A/c 7,500

2,40,0m 2,40,000

The terms of agreement were :

1) That every 10 equity shares of Y Ltd., X Ltd., issued 12 fully paid equity
shares of Rs. 10 each and paid Rs. 10 in cash.

2) That all assets and liabilities were taken over except cash to the extent of
Rs. 2,500 which was left for meeting realisation expenses.

3) That plant and machinery were revalued at Rs. 80,000 and other assets and
liabilities remaining at this book values.

You are required to

a) Calculate the purchase consideration

b) Ascertain the net value of assets

c) Calculate goodwill/capital reserve.

10. From the following details find out the claim under a loss of profit policy.

lndemnity period - 6 months

Policy value - Rs. 30,000

Date of fire - 1-4-2010

Dislocation upto - 1-18 2010

L

Capital20000 shares of Rs. 10 each

General reserve

Creditors

Bills payable
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Sales for 2009 accounting year Rs- 1,20,000

Net profit for 2009 accounting year Rs. 13,000

Standingchargesfor200gaccountingyear Rs. 17,000

Sales trom 1-4-Og to 31-3-2010 Rs. 1 ,60,000

Salesfrom 1-4-10to 1-8-2010 Rs. 15,000

Sales from 1-4-09 to 1-8-09 Rs. 50,000

There is a clear 10% upward trend in the business.

1 1 . The following is the income statement of a company for the year e;rding

3.1st March, 2008. Prepare common size income statement.

(in Thousands) :

Sales Rs.500

lncome n
520

Expenses:

Cost of sales 325

Office expenses n
. Selling expenses 30

lnterest 25

400

Net profit PA

520

Tata Electricity Supply Company Ltd., replaces 3/o of an electric line installed

20 years back at a cost of Rs. 20,000 and lays an auxiliary line for the balance
length. The total replacement cost for the replaced position amounts to
Rs. 45,00,000 and forthe auxiliary line Rs. 22,00,000. The old materials realised

Rs. 1-,20,000. By the time of replacement the cost of laying has increased by 80%.

Show the amounts to be capitalised and also show the amount transferred to

Revenue Alc and journal entries. ellQ=40)


